

PO Box 93999 Southlake, TX 76092

Voice:

(817) 546-7282

Fax:

(817) 246-3361

Bill To:

Murfin Drlg. Co., Inc. 250 N. Water STE #300 Wichita, KS 67202

INVOICE

Invoice Number: 148974

Invoice Date: Mar 18, 2015

Page: 1

Federal Tax I.D.#: 20-8651475

Customer ID	Field Ticket #	Payment	t Terms
Murfin	64669	Net 30	Days
Job Location	Camp Location	Service Date	Due Date
KS1-01	Oakley	Mar 18, 2015	4/17/15

Quantity	/ Item	Description	Unit Price	Amount
1.00	WELL NAME	Schmidt Vap #3-26		A STATE OF THE PARTY OF THE PAR
200.00	CEMENT MATERIALS	Class A Common	17.90	3,580.00
564.00	CEMENT MATERIALS	Chloride	1.10	620.40
210.00	CEMENT SERVICE	Cubic Feet Charge	2.48	520.80
484.00	CEMENT SERVICE	Ton Mileage Charge	2.75	1,331.00
1.00	CEMENT SERVICE	Surface	1,512.25	1,512.25
50.00	CEMENT SERVICE	Pump Truck Mileage	7.70	385.00
1.00	CEMENT SERVICE	Swedge Manifold Rental	275.00	275.00
50.00	CEMENT SERVICE	Light Vehicle Mileage	4.40	220.00
1.00	CEMENT SUPERVISOR	LaRene Wentz		
1.00	EQUIPMENT OPERATOR	Darren Racette		
1.00	EQUIPMENT OPERATOR	Wayne McGhghy		
	•			
		Calara		

ALL PRICES ARE NET, PAYABLE 30 DAYS FOLLOWING DATE OF INVOICE. 1 1/2% CHARGED THEREAFTER. IF ACCOUNT IS CURRENT, TAKE DISCOUNT OF

\$ 3,800.00

ONLY IF PAID ON OR BEFORE Apr 17, 2015

Subtotal	9 444 45
	8,444.45
Sales Tax	331.83
Total Invoice Amount	8,776.28
Payment/Credit Applied	
TOTAL	8,776.28



PO Box 93999 Southlake, TX 76092

Voice: Fax: (817) 546-7282 (817) 246-3361

BIII To:

Murfin Drlg. Co., Inc. 250 N. Water STE #300

Wichita, KS 67202

INVOICE

Invoice Number: 148974

Invoice Date: Mar 18, 2015

Page: 1

Federal Tax I.D.#: 20-8651475

Customer ID	Field Ticket #	Payment 7	ierms -
Murfin	64669	Net 30 E	ays
Job Location	Camp Location	Service Date	Due Date
KS1-01	Oakley	Mar 18, 2015	4/17/15

Quantity	. Item	Description	Unit Price	Amount
1.00	WELL NAME	Schmidt Vap #3-26	100 V.000.	10 000 000 000 000 000 000 000 000 000
200.00	CEMENT MATERIALS	Class A Common	17.90	3,580.00
564.00	CEMENT MATERIALS	Chloride	1.10	620.40
210.00	CEMENT SERVICE	Cubic Feet Charge	2.48	520.80
484.00	CEMENT SERVICE	Ton Mileage Charge	2.75	1,331.00
1.00	CEMENT SERVICE	Surface	1,512.25	1,512.25
50.00	CEMENT SERVICE	Pump Truck Mileage	7.70	385.00
1.00	CEMENT SERVICE	Swedge Manifold Rental	275.00	275.00
50.00	CEMENT SERVICE	Light Vehicle Mileage	4.40	220.00
1.00	CEMENT SUPERVISOR	LaRene Wentz		
1.00	EQUIPMENT OPERATOR	Darren Racette		
1.00	EQUIPMENT OPERATOR	Wayne McGhghy		
			.	
	,			
			<u> </u>	

ALL PRICES ARE NET, PAYABLE 30 DAYS FOLLOWING DATE OF INVOICE. 1 1/2% CHARGED THEREAFTER. IF ACCOUNT IS CURRENT, TAKE DISCOUNT OF

\$ 3,800.00

on

ONLY IF PAID ON OR BEFORE
Apr 17, 2015

Subtotal	8,444.45
Sales Tax	331.83
Total Invoice Amount	8,776.28
Payment/Credit Applied	
TOTAL	8,776:28

OV, M 3860,00

4976.28

ALLIED OIL & GAS SERVICES, LLC 064669 Federal Tax I.D. # 20-8651475

SOUTH	UX 93999 ILAKE, TEXAS 76			SERV	ICE POINT:	7 , Ki
DATE 3-18-15	SEC. 76 TWP. 4	RANGE 3/	CALLED OUT	ONLOCATION	JOB START	JOB FINISH
Schmitt LEASE OOP	1	LOCATION Rex	femles by		COUNTY	STATE
OLD OR NEW (Cit		62w, 6		5585 into		1.7.
and implement	Martin				3	
	Fertage	<u> </u>	OWNER _5	ame_		
HOLE SIZE	12 Y 9 T.	2191	CEMENT			
CASING SIZE		PTH 2/2.87		RDERED 200	\ e & = -	38.00
TUBING SIZE		PTH	AMOUNTO	KUEKEU A	110 000	JOCK.
DRILL PIPE		PTH		· · · · · · · · · · · · · · · · · · ·		
TOOL		PTH	·····			
PRES. MAX		NIMUM	COMMON	2005FS	@ 12,95	3580.00
MEAS, LINE		OE JOINT	POZMIX		@ <u>- 27 (7 -)</u>	550
CEMENT LEFT IN			GEL		-@ <i>-</i>	
PERFS.	· · · · · · · · · · · · · · · · · ·		CHLORIDE	54,44		620.96
DISPLACEMENT	13.11 661	<u>, </u>	ASC		-@ <u></u>	
		r ¹	100		-@	· ————
	EQUIPMEN	L	117040	Cice Total		4,200,40
		D c.l.	T. 111200	: 1 <u>C </u>	<u> </u>	-
	CEMENTER &		<u> </u>		- @ 1	·
	HELPER Dar	ren Rocet	<u> </u>	890.18/4	765	
BULK TRUCK		A		,		
	DRIVER Way	e McGhg L	<u>, </u>		@	·
BULK TRUCK		0 /	•		@	
#	DRIVER		HANDLING	21017	@ Z48	520.88
			MILEAGE 7			133600
	REMARKS		,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,			
C : - 70	OSS CRA				TOTAL	};
	e with a	Johan		SERVI	CE	
- Cederant		reales		2.05		
10661	18 DV	······		ЮВ <u>2198</u>	71	
		, , , , , , , , , , , , , , , , , , ,	· · · · · · · · · · · · · · · · · · ·	CK CHARGE		151225
		·· - · · · · · · · · · · · · · · · ·	EXTRA FOO		_@	2020
					0 7,70	
	· · · · · · · · · · · · · · · · · · ·		— MANIFOLD	2 0/0400 C	_@	279.00
			MEC	1 . 50	@ 4,40	22000
					_@	
CHARGE TO:	nortin		_ / .	. / .	`	
			1191	9.82/453	TOTAL	<u> 4.344.05</u>
STREET	<u> </u>		- (///			
CITY	STATE	ZIP	_			
				PLUG & FLOAT	r EQUIPMEN	AT.
			Î			
					@	
To: Allied Oil & C	Gas Services, LLC	٦.			.@	
					@	
		menting equipmen			@	
		to assist owner or				-
		The above work wa			mora s	
		n of owner agent or			TOTAL	·
		and the "GENERA		(If Anse)		
TERMS AND CO	NDITIONS" list	ed on the reverse si	uç,	(A		
	'بر سا		TOTAL CHA	rges <u>0,444</u>	<u></u>	
PRINTED NAME	FRED (V.	Missis	minader -	3,800.00/4	£3)	
TRINIED NAMES		IN 100-1	DISCOUNT	77		
T		_		4.444.	4 Net	
SIGNATURE	BILM			-10.1 4.	1 11	



Consolidated Oil Well Services, LLC Dept:970 P.O.Box 4346 Houston, TX 77210-4346

MAIN OFFICE

P.O.Box884 Chanute,KS 66720 620/431-9210,1-800/467-8676 Fax 620/431-0012

803758 Invoice# Invoice

03/26/15 Invoice Date: C.O.D. Terms: Page 1

MURFIN DRILLING

P.O. BOX 288 RUSSELL KS 67665 **USA**

USED FOR /C. 103

APPROVED TY FH

SCHMIDT VAP #3-26

==========		======================================	===== ===		==========
Part No	Description	Quantity	Unit Price	Discount(%)	Total
5401C	Single Pump	1.000	3,175.0000	20.000	2,540.00
5406	Mileage Charge	45.000	5.2500	20.000	189.00
5407A	Ton Mileage Delivery Charge	1.000	1,925.4400	20.000	1,540.35
1126-0130	Oil Well Cement	200.000	23.7000	20.000	3,792.00
1110A	Kol Seal (50# BAG)	1,000.000	0.5600	20.000	448.00
1104D	CLASS A CEMENT CMD	350.000	27.9200	20.000	7,817.60
1144G-0130	Mud Flush - Oakley	500.000	1.0000	20.000	400.00
4159	Float Shoe AFU 5 1/2	1.000	433.7500	20.000	347.00
4104	Cement Basket 5 1/2	3.000	290.0000	20.000	696.00
4136	Turbolizer 5 1/2	15.000	75.7500	20.000	909.00
4454	5 1/2 Latch Down Plug	1.000	318.2500	20.000	254.60
4314	Reciprocating Scratchers	20.000	82.0000	20.000	1,312.00
				Subtotal	25,306.94

Amount Due 26,510.13 If paid after 03/26/15

Tax:

962.55

5,061.39

20,245.55

Total:

Discounted Amount

SubTotal After Discount

21,208.10



1100 TICKET NUMBER 47947

LOCATION ON KIEY, KS

FOREMAN KELLY Gape 1

	TOMER# WELL	CEMEN LL NAME & NUMBER A VOP#3-26 Restora	SECTION	TOWNSHIP	RANGE	<u>⊬85</u>
3-25-15 54 CUSTOMER MAILING ADDRESS CITY	106 Schmid	NOP#3-26 Restora		TOWNSHIP		001111
CUSTOMER MULTING ADDRESS	4=1	Sorgora 2 NIE	J			COUNTY
MAILING ADDRESS		JN 18	26	4	3100	Rowlins
MAILING ADDRESS						
CITY	ISTATE		TRUCK#	DRIVER	TRUCK #	DRIVER
	ISTATE	8N 3M	77247118	golge N		
	ISTATE		460	1ance		
JOB TYPE Prode	OIME	ZIP CODE 12452 Pà	52847129	ROA /		
JOB TYPE Prode		Guara				
	HOLE SIZE	77/8 HOLE DEPTI	14465	CASING SIZE & V	VEIGHT 5/2	15.54
CASING DEPTH 식식		TUBING			OTHER	
	:/42 SLURRY VOL		= <u></u>	CEMENT LEFT in		15 (shoe)
	53466 DISPLACEMEN			RATE_	07.00 <u>7 E [</u>	13 Cande
	•	NI FOI NIIA FOI			N	
ALE .	x weeting,		n Murtin			
JT 4 Turbo	<u>5 1₁5, 5, 7,5,</u> 7	0,11,13,15,16,	,v-,	 		5=18,45,6
<u>ran 53745</u>	tc/Lcmpateg		15,06401	bottow,	106JTS to	Hal Circula
	(xe à 3205)	KSCMD +Tai		with.	2005KS	0W C 5₹
Kol-seal,	mixed 155	K5RH 155K	SMH, C	leaned	Pumps	release
Plug +d=	spiaced wi	+10 190 10pl n	ucter. 1	:4+ pre:	5548e 7	50th
		+ released p			# Shuy	
Cemen			Drox ac		2:4	
	<u> </u>	70011416	ALION SI	-16-	60%	
			9) 11. E	TOR YOU	
ACCOUNT			<u></u>	my Sicon	p a creci	
CODE	QUANITY or UNITS	DESCRIPTION of	f SERVICES or PRO	DDUCT	UNIT PRICE	TOTAL
5401C	<u> </u>	PUMP CHARGE			317500	317500
5406	45	MILEAGE	- · · · · ·	······································	F 25	236 35
5407A	2/1/1/5		1 (5		175	NG 2 - 4/4
	<u> </u>	Ton milogge	deliner.	Υ	23 70	(745
1126	<u>2005KS</u>	0wc				4740
1110 A	1000th	Kol-seal			.56	56000
11040	3505KS	GWD		·	27 93	977209
11446	500gal	mudflush			100	50000
4159	1		atshore	(4)	13275	43375
	3	1	_	<u></u>	20.00	23.00
		5/2 basket			790	87000
4109		5/2 Turboriz	(w) 19	_	75/2	1136 25
4136	15		0/62149	(I)	31835	25.4
4136		1 5/2 /atchao	' ' ' ' -	•		3/8
4136	15	· ·	itchers (w)	8200	3/8 35
4136	_1	5/2 latchao	tchers (w)	8200	164000
4136	_1	· ·	itchers (w	<u> </u>	8200	16400
4136	_1	· ·	rtshers (w)	8200	1640
4136	_1	· ·	etchers (w)	8200	1640
4136	_1	· ·	ctchers (w)	8200 Aub	25,309
4136	_1	· ·	rtchers (w	Žio	8200 Sub-	1640
4136	_1	· ·	rtchers (w	J.o	8200 Sub- 2000 to0	1640
4136 4454 43/4	_1	· ·	rtchers (w	Justin Tu	SALES TAX	1640
4136	_1	· ·	rtchers (Lus	Lio Tu	8200 Sub- 2000 to0	1640

I acknowledge that the payment terms, unless specifically amended in writing on the front of the form or in the customer's account records, at our office and conditions of service on the back of this form are in effect for services identified on this form.

TERMS

In consideration of the prices to be charged for Consolidated Oil Well Services, LLC (COWS) services, equipment and products and for the performance of services and supplying of materials, Customer agrees to the following terms and conditions.

Terms. Cash in advance unless satisfactory credit is established. On credit sales, invoices are payable within 30 days of the invoice date. On all invoices not paid within 30 days, Customer agrees to pay COWS interest at the rate of 18% per annum or the maximum rate allowed by law, whichever is higher. In the event COWS retains an attorney to pursue collection of any account, Customer agrees to pay all collection costs and attorney's fees incurred by COWS.

Any applicable federal, state or local sales, use occupation, consumer's or emergency taxes shall be added to the quoted price. All process license fees required to be paid to others will be added to the scheduled prices.

All COWS' prices are subject to change without notice.

SERVICE CONDITIONS

Customer warrants that the well is in proper condition to receive the services, equipment, products and materials to be supplied by COWS. The Customer shall at all time have complete care, custody, and control of the well, the drilling and production equipment at the well, and the premises about the well. A responsible representative of the Customer shall be present to specify depths, pressures, or materials used for any service which is to be performed.

- (a) COWS shall not be responsible for any claim, cause of action or demand (hereinafter referred to as a 'claim') for damage to property, or injury to or death of employees and representatives, of Customer or the well owner (if different from Customer), unless such damage, injury or death is caused by the willful misconduct or gross negligence of COWS, including but not limited to sub-surface damage and surface damage arising from sub-surface damage.
- (b) Unless a claim is the result of the sole willful misconduct or gross negligence of COWS, Customer shall be responsible for and indemnify and hold COWS harmless from any claim for: (1) reservoir loss or damage, or property damage resulting from sub-surface pressure, losing control of the well and/or a well blowout; (2) damages as a result of a subsurface trespass, or an action in the nature thereof, arising from a service operation performed by COWS; (3) injury to or death of persons, other than employees of COWS, or damage to property (including, but not limited to, injury to the well), or any damages whatsoever, irrespective of cause, growing out of or in any way connected with the use of radioactive material in the well hole: and (4) well damage or reservoir damage caused by (i) loss of circulation, cement invasion, cement misplacement, pumping cement or cement plugs on wells with loss of circulation. including the failure to displace plug to proper depth, (ii) subsurface pressure and resulting failure to complete pumping of cement or cement plug, including dehydration of cement slurry or flashing, plugged float shoe, annulus bridging or plugging, or (iii) down hole tools being lost or left in the well, or becoming stuck in the well for any reason and by any cause. COWS may furnish down hole tools and may supply supervision for the running and placement of such tools but will not be liable for any damage, loss or result caused by the use of such tools.

Furthermore, Customer will be responsible for the cost to replace such tools if they are lost or left in the well.

- (c) COWS makes no guarantee of the effectiveness of any COWS' products, supplies or materials, or the results of any COWS' treatment or services.
- (d) Because of the uncertainty of variable well conditions and the necessity of relying on facts and supporting services furnished by others, COWS is unable to guarantee the accuracy of any chart interpretation, research analysis, job recommendation or other data furnished by COWS. COWS' personnel will use their best efforts in gathering such information and their best judgement in interpreting it, but Customer agrees that COWS shall not be responsible for any damage arising from the use of such information except where due to COWS' gross negligence or willful misconduct in the preparation or furnishing of it.
 - (e) COWS may buy and re-sell to Customer down hole equipment, including but not limited to float equipment, DV tools, port collars, type A&B packers, and Customer agrees that COWS is not an agent or dealer for the companies who manufacture such items, and further agrees that Customer shall be solely responsible for and indemnify COWS against any claim with regard to the effectiveness, malfunction of, or functionality of such items.

WARRANTIES - LIMITATION OF LIABILITY.

COWS warrants title to the products, supplies and materials, and that the same are free from defects in workmanship and materials. THERE ARE NO OTHER WARRANTIES, EXPRESS OR IMPLIED, NOR ANY WARRANTY OF MERCHANTABILITY OR FITNESS FOR PURPOSE. WHICH EXTEND BEYOND THOSE STATED IN THE IMMEDIATELY PRECEDING SENTENCE. COWS's liability and Customer's exclusive remedy in any claim (whether in contract, tort, breach of warranty or otherwise,) arising out of the sale or use of any COWS' products, supplies, materials or services is expressly limited to the replacement of such products, supplies, materials or services or their return to COWS or, at COWS' option, an allowance to Customer of credit for the cost of such items.

Customer waives and releases all claims against COWS for any special, incidental, indirect, consequential or punitive damages.